
1/7H48.axntLS017_EN-05 07.2019

Size range
Windows Patio doors

Sash width (mm) 450 – 1600 450 – 1300

Sash height (coupling set) (mm) 770 – 2000 2000 – 2400

Sash height (gear set) (mm) 805 – 2000 2000 – 2400

Sash weight (kg) max. 100/130 max. 100/130

The following application diagrams are valid:​ 
-max. 100 kg (Durability H3)			   document Nr.: H58.AWDLS012_EN 
-max. 130 kg (Durability H3)			   document Nr.: H58.AWDLS013_EN 
 
The following documentation is required: 
-ALU axxent PLUS-TBT FBS-EUL KPW		  document Nr.: H48.axntLS011_EN 
-Profile recommendation ALU20 		  document Nr.: H45.ALUS001_EN 
-ALU axxent PLUS-DK/TBT assembly instructions	 document Nr.: H39.axntLS001_EN 
-ALU Maintenance instructions		  document Nr.: H49.ALUS001_EN 
-ALU Service instructions 			   document Nr.: H47.ALUS001_EN 
-ALU Operating instructions 			   document Nr.: H47.ALUS002_EN
Please observe:
Guidelines/notes on the product and on liability (VHBH directive as well as  
the further applicable documents)! 
Specifications from the profile manufacturers or system owners for windows and 
patio doors! 
 

See SIEGENIA download portal for all documentation!

ALU axxent PLUS-TBT E RC2
Assembly instructions

RC2

 
Single sash square tilt and turn

Application for burglar resistance test in accordance with DIN EN 1627ff RC2, RC2 N

Aluminium eurogroove 15/20

Chamber dimensions 21

Versions A0004/A0006/A0022

Hinge clearance (BD) ≥ 3.5

Anti-mishandling device in the corner drive (FBS-EUL)

Horizontal tilt point (KPW)



07.20192/7 H48.axntLS017_EN-05

ALU axxent PLUS Hardware overview
Single sash square tilt-turn  
Hinge side ALU axxent PLUS RC2

1) Is omitted for gear set ALU-E.

Torque and tooling information
 Items  Nm (± 0.25)

702 2.5  2.5

410, 505, 506, 517, 518 1.5  2.5 

908 2.5  4

412 4  4

904, 907, 922 2.7  PZ2

923 2.5  PH2

413 412

505

1)

1)

505700

502

504

506

505

702

505

412
413

922 530 529

923

907 622 620

904

101 103

105

h.1 h.2

h.3

604 

908 

915 907 604 

908 

915 907 

A0172

703

944

922

530

529

922

530

529

922

530

529

922

530

529

922529 530

922529 530

922529 530

922529 530

530 922529

944

A0172
≤ 0130 kg

410 411 419 505

413

412

516517 518

505

515

502



H48.axntLS017_EN-05 07.2019 3/7

Hardware list
Single sash square tilt-turn  

Hinge side ALU axxent PLUS 

ALU axxent PLUS

RC2

Item Pieces Material description Material number VE Material number VE

- 1 Hinge side ALU axxent PLUS-TBT without positioning
See assembly instructions 

ALU axxent PLUS-TBT FBS-EUL KPW 
in the SIEGENIA download portal

h.1 101

1

ALU Si-line lockable handle Use with coupling set 
ALU-E

See assembly instructions 
ALU handle overview  

in the SIEGENIA download portalh.2 103 ALU GLOBE lockable handle

h.3 105 TITAN lockable handle Use with gear set 
ALU-E

□ 7 mm x 25 mm, cam Ø 10 mm 
only use in combination with gear set

944 0...1 Accessories ALU axxent PLUS A0022 Use with BS ALU axxent 
PLUS-TBT MZBS0180-10001_    1 MZBS0180-10002_    100

0...1 Accessory set ALU axxent PLUS > 100 kg - MZBS0130-00003_ 20

0...1 Accessory set ALU axxent PLUS A0172 > 100 kg (with sunken 
sash groove -0.5 to -3) - MZBS0190-00003_ 20

0...1 ALU additional stay FB > 1250 ≤ 100 kg  
FB > 1020 > 100 kg  857076 1 247006 10

410 1 Additional stay
411 1 Striker plate
412 1 Locking cam
413 1 Eccentric rivet

419 0...1 MV stay striker sash width > 1020 > 100 
kg, FB > 1250 MXSK0010-00001_ 1 MXSK0010-00003_ 20

 0...1 Accessories set ALU BD5 150 kg > 100 kg -  1 MZBS0110-00003_    20
902 1 Countersunk screw M5 x 13
921 1 Supporting piece
924 1 Adjusting piece S

1 Locking side ALU TBT FBS-EUL horizontal tilt point (KPW) MMVS0460-10001_ 1 MMVS0460-10003_ 20
501 1 Locking bolt TBT (not required)
502 2 Clamping piece EUL
504 1 Corner drive VSO-FBS
505 1 Striker
506 1 Striker EUL
515 1 Corner drive VSU
516 1 Tilt lock
517 1 Run-up block
518 1 Tilt locking part DK

1 MV ALU VS/BS axxent PLUS MMMV0060-10001_ 1 MMMV0060-10003_ 20
505 3 Striker 1 x BSO / 2 x FB > 1250
700 1 Slider FB > 1250
702 1 Corner drive BSO ALU-axxent PLUS
703 1 Coupling piece BSO MV ALU axxent

h.1 
h.2

0...1 Coupling set ALU-E use with h.1/h.2 MMKL0070-10001_ 1 MMKL0070-10003_ 20

604 1 Coupling bracket E M6
907 2 Coupling screw M6
908 2 Cheese head screw M5 x 12

h.3 

0...1 Gear set ALU-E use with h.3 MMGI0060-10001_ 1 MMGI0060-10003_ 20
620 1 M6 ESG
622 1 Anti-drill guard
904 2 Countersunk screw M5 x 35
907 2 Coupling screw M6
923 2 Countersunk tapping screw M3.9 x 13

4...10
Locking part ALU-E A0004

see page 5 for number 
of locking parts

MMVR0050-10001_ 1 MMVR0050-10003_ 20
Locking part ALU-E A0006 MMVR0060-10001_ 1 MMVR0060-10003_ 20
Locking part ALU-E A0022 MMVR0070-10001_ 1 MMVR0070-10003_ 20

529 1 Locking part E
530 1 Striker E
922 4 Countersunk screw FDS M5 x 14.5

0...2 Locking part ALU FH > 1250 - - 317556 20
412 1 Locking cam
413 1 Eccentric rivet
505 1 Striker
915 0...1 ALU handle support Only use for h.1/h.2 – – (see table on page 4) 200



07.20194/7 H48.axntLS017_EN-05

ALU axxent PLUS Assembly instructions
Single sash square tilt-turn 
Hinge side ALU axxent PLUS RC2

USH 
(mm)

Z 
(mm)

X 
≤ 7 mm

X 
< 7 ≤ 8.5 mm

7 - 10
≤ 2

MFHA0010-10020_
MFHA0010-10020_

> 2 ≤ 3 MFHA0020-10020_
> 3 -

12 - MFHA0030-10020_ -

Observe assembly sequence! Design variations for handle support 
(item 915) (h.1/h.2)

Rebate height
(USH)

2

Z

X
1,

5

ALU axxent PLUS-DK/TBT assembly instructions 
see Document Nr.: H39.axntLS001_EN

ASSEMBLY INSTRUCTIONS

ALU

Assembly instructions: 
ALU axxent PLUS-DK/TBT

 axxent PLUS

Window systems

Door systems

Comfort systems



H48.axntLS017_EN-05 07.2019 5/7

Locking parts and assembly of jigs 
Single sash square tilt-turn 

hinge side ALU axxent PLUS

ALU axxent PLUS

RC2

FH Sash width ≤ 900 mm Sash width > 900 mm

≤ 1400 4 6
> 1400 ≤ 2000 6 8
> 2000 ≤ 2400 8 10

Pieces Name VE Material nr.

4...10 Jig EL ALU-E
for sash

1 156926
(Requirement max. 10 piece)

0...1 Jig EB ALU-E
for frame

1 MARB0060-50001_
(Hole Ø 3.5) (fig. 4)

0...1 Jig EB ALU-E
for frame

1 MARB0040-50001_
(Hole Ø 4.2) (fig. 5)

Number and positions of the locking parts!

Installation of jigs EL ALU-E on the sash and jig EB ALU-E on the frame!

Installation of the jigs EL ALU-E on the sash
A Mounting and securing the sash in the turning position.
B Rotating sash into turning position
C Insert jigs EL ALU-E into locking parts (529) (see fig 1).
D Closing the sash.
E Switch handle horizontally (tilt position).
F Do not rotate sash.
G Make markings for jig EB ALU-E on frame (see fig. 2).
H Switch handle vertically upwards into turning position.
I Open sash.
J Remove jigs EL ALU-E.

Fig. 1

Fig. 2

Marking 
opening

Installation of the jigs EL ALU-E on the sash

Installation on frame
Position jig EB ALU-E and drill holes for strikers E (530) with Ø 3.5 or Ø 4.2 (see 
fig. 3/4/5).

Fig. 4 Fig. 5

Ø 3.5 Ø 4.2

 

≤ 
1.

5

> 
1.

5

Fig. 3

Marking

Installation of the jig EB ALU-E to the frame 

FB > 900

FH > 2000

FH > 1400

FB > 900



07.20196/7 H48.axntLS017_EN-05

ALU axxent PLUS Sash dimensions
Single sash square tilt-turn 
Hinge side ALU axxent PLUS RC2

 S5 = FB/2 - 214
50 

40
5 

36
5 

(h
.1

/h
.2

) 
40

0 
(h

.3
)

 

(FB > 900)
(FB > 900)

3)

3)

S4
 =

 F
H 

- 3
55

85
85

 

FH
/2

 - 
23

3 

FH
/3

 - 
 2

33
 (F

H 
> 

20
00

) 
FH

/3
 - 

10
9 

(F
H 

> 
20

00
) 

FH
/2

 - 
14

8 
(F

H 
> 

14
00

 ≤
 2

00
0)

 

(F
H 

> 
20

00
) 

G2
 - 

40
2

S2
 =

 G
2

 - 
23

8 

 8
5 

2)

S1
 =

 G
1

 - 
23

4 
85

S1
 =

 G
1

 - 
22

9 
85

(F
H 

> 
20

00
) 

G2
 - 

40
2

S2
 =

 G
2

 - 
19

6 

 8
5 

 6
7

2)

G1
 - 

33
0 

(F
H 

> 
14

00
 ≤

 2
00

0)
1)

 (F
H 

> 
20

00
) 

G1
 - 

33
0 

(F
H 

> 
14

00
 ≤

 2
00

0)
1)

 (F
H 

> 
20

00
) 

234

FB/2 - 466

FB/2 - 550
3)

h.1/h.2h.3

S3 = axxent PLUS size 1 =  FB - 353 (FB > 450 -   600 ≤ 100 kg)
         axxent PLUS size 2 = FB - 544 (FB > 600 - 1250 ≤ 100 kg) 
         Size 2 + ZS              	=  FB - 955 (FB > 1020 > 1600) (> 100 kg) 2  

Positioning  
the top stay

(FB > 900)

1) G1 ≥ G2

2) G1 < G2 (FH > 2000)

3) See page 3 for installation of centre locks.

see standard assembly instructions for hole 
pattern dimensions of handle.

 F
H 

(s
as

h 
he

ig
ht

)

FB (sash width)



H48.axntLS017_EN-05 07.2019 7/7

Hardware list
Single sash square tilt-turn 

Hinge side ALU axxent PLUS 

ALU axxent PLUS

RC2

Version X Y Z

A0004 18 14 3
A0006 14.5 10 3.5
A0022 15 12 3

19
4

31
824

2
29

0

G
1 

+ 
76

12
5

FB/2 + 103 (FB > 900)

FB - 194

   FB/2 - 97 (FB > 900)

15
511

8

B

B

A

A

132 4)

FH
/3

 (F
H 

> 
20

00
)

FH
/2

 +
 8

6 
(F

H 
> 

14
00

 ≤
 2

00
0)

G
2 

- 2
45

 (F
H 

> 
20

00
) 2)

G
1 

- 1
27

 (F
H 

> 
14

00
 ≤

 2
00

0)
1)

 (F
H 

> 
20

00
) 

110 (FB > 1250)
(>100 kg / FB > 1020)

3)

10

m
in

. 1
0

13 13
24 24

< 
1,

5 
(  

 3
,5

)
> 

1,
5 

(  
 4

,2
)

3,5
4,2 9,5

B - B

A - A

8,8

4)

4)

Note: remove adhesive 
residue 
from frame corners.

Centre 3) 

Ce
nt

re

Observe installation markings!

(O
ve

ra
ll 

w
in

do
w

 fr
am

e 
cl

ea
ra

nc
e)

3)

Centre3)

1) G1 ≥ G2 

2) G1 < G2 (FH > 2000)

3) Installation recommendation for the centre locks see page 3. 

4) Drill hole Ø 4.2 for sash weights >100 kg (for item 902). 

After the installation of the bottom hinge, drill through the bottom hinge casing with a Ø 4.2 drill. 


